:'3: :?fz?‘? /;? SCRIPT TITLE /: ; PRODUCER “| owecion N?vt;ion-?onsewﬁve Rehearse
v 2.4 fory g -Travel 2
,3: 2 2 deary Rsale S oo £ xi1l& | G e —/,'( €S S:Start O:Holiday
YOOUCTION ¢ i W:Work L:Loop
. : ; F:Finish NCL:Non-Consecutive Loop
ONTH Tald v G G - H:Hold/Carry P:Protection Day

DAY OF MONTH —————s- |17 |18 |19 |20 p1 p2 |23 R P52t [o2 [28 293030 | 7 | 2 |3 |9 | 5| G| 7| 8|9 1001 |e2| 3 14|58 17]18 11 9120 R 1 Je2.| 2324|5124 . & é’.

our o week ———e- |y |1 [t | |5 | [ b £l | (Wi | | a2 L L | whra | L@ | Wi | F L izggfgﬁiéa

ooma s |plriP|P|p it 1 |2 |3 [ |5 B[ |7 (8|9 bio Pl |12 o wles o Peel 5 6 v 1819 Voo | % it |22)23 ot [E1EIE 282 B

NAME CHARACTER .

! LyAr ] = ANNONEsS A ANNNNnEsNInNnnEE=SNaNNN =Nl 25
? ¥ Roberr : L Aaja| |2 k|22 ] z —tzlz]z]2]x] [2]2] |2 17
3 ¥ | Morlord ; A 33 3 3|3 3| 14 3| 1 i3l21313]3 14
) ¥ | Mag/fenve i =HEEEIEIE 4 T4 L4+ . qiql 1 ld] [did 4
s ¥ | Hetly slslslsis T L 1slsisist Lsls T 1 sls 13
s ¥ | Louvs AL Tele]efe-T Jefele]elel -lé bl T le]e] Telel AT [e]efe]e 2.0
? *¥ | Tasen 1A 13#12] T 3] (#3113 FH IATFF (FHFA ] [ 18
) PeTer (oni7) = T g e BB = o
’ *¥| cnpael - 91919 A 1919l914[9 A9 alal” | 1A49]a] |4[4] 1~ la]ale 19
» LArry (omsT) | L~ A g = =
" ¥ | Tvler . w7 = 2 T T T s T MMz nfnl fninf L1 Tulolofu -
” Tixd LfomiT) | [ L~ A AT =
0 v¥| Rick ' HAERNNEN =SSR 13113]_ 13 13|3| -1 133 [13]13 1311311313 13
“ # ¥l Te0D =y 4 " 1A 14 - £ 14 3
s * ¥| SHraes 1. 151457 _ - 15] - 2
" ¥ #| Karrenbeze . 48 I o T 116 o [
v # 9P| NVNEIL . e il A s 1 17 = {
» ¥ | )oyroeldeirl | P o 18] 1= — ; 7
" ¥ x| ) ciml K = 19l [ A 18] o -
» ¥ x| 20°Pc .2 L i 20] i 2 A 20 — ] 3
o # ¥ | 3526, 0L (eerra)| ] aif2iby]” 0] [21]21] 4121 2 | LA 41 1 x4
z ¥ & | Y% G aL (exrrd)| - 120100l - hal alzal 2 23] e 2 /¢
a & # |SwinMive /ST R - e 23 —1 |22 A - P 2
) ¥ # | 5B 5,0L (peras) 1l [2dhyl A Rd] 24l L4 — EEEY 8
sl 0 w# |L{Dorellecrrq) s i = - 251 |28 i = 5 4
» | X ¥ | Hotly phore of SL[%). AT e i T - - i 1
P % ¥ |Celgelie fexTrs)|. i i P o 23 i
) Y # (&/riauaeg_/txm') B —T_ il 2 8 )|
» “1A 1A o= =l 1~

- 3 { =



